2(x-3)2+ (x+2)(3x + 1) 7HH3] 59

D 2 -5x+20 @ 5x%+5x+20 @ 5x2 —5x—20

@ 5x%2 4 5x-20 (@)5x2—5x—|—20

~&B

2(x=3)2+ (x+2)(3x+ 1)

=2(x2 = 6x+9) + (3x2 + x + 6x + 2)
=2x2 - 12x + 18 4+ 3x? + Tx + 2
=b5x? —5x+ 20




2(4+2) (42 +2%) (44 +2') (¥ +2%) =4 -2 ), I, b
a+bo 27

@ 2 @ 4 ® 16 @32 ® 64

B

2=4-20]B2

(4-2)(4+2)(4% +22)(4* + 21) (48 + 28)
= (42 - 22)(42 + 22)(4" + 2%)(4° + 29)
— (44 _ 24)(44 + 24)(48 + 28)

= (4% - 25)(4° + 2°)

— 416 _ 916

La+b=16416 = 32




1
x—?> =x>+ax+b 4 d,

12x+
35 35
L 12
#r—% |,
%lo]gg
35
12) 1 11
i —~ —__" o
(35 +35 35 et




4.  (5x-6)(4x +3)2 HMNSHH 2042 - (2a + 1)x - 3b O]t} oJuf, A<
a, b O & a+b o] 27

@5 @10 ® 12 @ 18 ® 30

B ~

(5x — 6)(4x + 3) = 20x% — 9x — 18

=20x? - (2a+ 1)x—3b
Wt 2a+1 =9, 2a =8, a =4, -18 = -3b, b = 6 °|1L
a+b =10 °|t}.




